EELSLL (SMR) (EMHAEW-BE) (H15—19) ZE : 100

mETH - REBFT| SMR | HETH - RIEERT| SMR | TETH - RIERT | SMR
B R B8 B 97.1 |4# & il 91.1 |/ 2 % | 112.3
BE R B 97.2| X B H C 91.1 |+ %@ -+ Hr 109.9
il (= M| 100.3 |& 5 m| 102.2 |F@ & F H 97.6
8 B H C| 100.3|m & K H 74.9 |F8 2 ® H C| 108.7
¥ 55} | 110.2 ¥ B iy 89.8 |E A B HE 110.5
B D F | 102.7 & 4 i 86.5|E A B H C| 110.5
Bm AL M T 99.8 |:& 7K i 89.3 |&E ES M| 103.1
jo ## B H Cc[ 103.1|3 8 B H C 94.7 | X #0 #  121.0
WbEaAFH 102.3 | i [l 90.4 |F ® £ 104.3
H B [it] 108.5|&% # & 9.1 |# F KW H 80.6
= = # 36.1 |k 55} BT| 115.2 |8 il i 90.0
+ = it 159.8 |&& i & H C 96.4 |= H g} 99.1
B £ B H C| 106.3 |&E B [it] 87.6 |44 # H C 98.2
iE E JIl A 09.7 |E 7K [it] 1005 |8 =2 & W 86.6
S D F M 95.8 | &£ E H 96.1 |X b7 BT| 128.0
Ji 8 H C 98.8 | L g} 80.0 |# il il 86.8
[ N i~ S ] 89.5 | K F& H 88.3 |#n b= iy 76.7
H 7K il 95.9 |iF 1 i 94.5 |40 % i 76.2
£ = iy 97.8 |EE E H C 90.0 |5 i i 97.5
H K H C 94.3 8 2 B H C 91.3
XERERREEBEERTEHR21ESAER

SMR(15—19) EM#Hi£M Bt | -sMRER ¢ SMR -SMRTR |

130

120 fommm oo

N Banszwe R

80

oooag
oooag
oooag
OoOooOono
OoOooOono
oooag
oooag
oooag
oooag
Ooooono
oooag
oOooono
oooono
oooag
oOooono




EELSLL (SMR) (EleaA® - &%) (H15—19) ZE 100

~
M

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 91.3 | & it 9108 2 X ™ 87.4
BE R B 1F 950X A H C 91.0 | %# F HI 95.8
it = [l 91.4 |& = it} 91.2 |Fm # ¥ H 89.5
8 8 H C 91.4 |m A& K H 729/ 2 ®¥ H C 90.3
L3 I [z} 85.0 |t& B T 84.1 | A B W 98.6
B 2% h 91.4 ;& S T 87.1|E A B H C 98.6
m AL W T 90.5 & 7K BT 70.6 |& e [it] 90.9
jo tH B H C 89.711 B H C 85.7 | X #0 #|  119.3
WEZEEAREFH 924.3 |& i il 86.8 |F =% Ft 39.6
H B | 100.3|F H & ™ 87.4 | F KN H 98.6
= 5 # 0.0 |X I Br| 119.9 |& 58 T 71.8
+ = ¥ 1585 |F i & H C 92.2 | R ) 86.5
FE KR HC 98.0 |E B T 87.2 |1 #E H C 89.0
B JI AT 91.7 |&= 7K il 9l.2 |8 2 B HI 82.2
S D F H 85.4 | & B H 103.8 |IX Ik T 81.1
JIU B H C 90.2 | iL i) 90.9 ## il i) 72.6
I A R T 84.7|Fm K B H 80.4 |#0 A T 71.0
H 7K [l 98.5 |BF 1 T 94.8 |40 % ) 87.9
£ = T 94.5 | B H C 89.3 |5 il i 69.3
H K H C 93.8 #m 2 B H C 91.3
XEREEERIEERTHR21E8AER
SMR(15—19) BMHEMY %XiE|] | —SMREE  eSMR  —SMRTE |
120
110
100 — T -_— T -
”EHIEHEH
B0 - -
70
O O O O O O O O O O O O O O O
O O O O | | | | | | | O O O O
O O O O O O O O O O O O O O O
O O O O | | | | | | | O O O O
O O O O O O




EEGELL (SMR) (BhA -8B (H15—19) £ 100

mHTA - GRIEEFT| SMR | HlT#A - &REFT| SMR | HiliTH - &RIBFT| SMR
BE R B & 68.9 |# & Gt 71418 2 R ™ 96.4
BE R B 1F 703X A H C 1.4 10 # F H 89.5
bl = [it] 64.2 |5 = il 81.7 |#&@ #%# F Hy| 103.2
8 8 H C 64.2 | A K H 63.0 |/ 2 ®¥ H C 95.8
L3 I [z} 75.5 |t& B T 99| A B H 63.0
B 2% h 71.8 Ii& S T 61.8|E A E H C 63.0
m AL W T 59.9 ;& 7K BT 52.3 |& e [it] 65.3
jn i B H C 67.8 %8 B H C 69.7 |X #0 #] 138.3
WbEEAFH 84.6 |5 A T 56.1 |=F = #t 64.4
H B [l 62.1 1% 1 & 1 742 |3 F A H 65.9
= 5 3l 0.0 IX 553 HT 71.8 |&E 5EB HT 64.4
+ B * 73.9)|F i H C 65.2 |= R T 44 .9
FE KR HC 69.9 |E B T 67.3 |12 # H C 64.9
B JI AT 65.8 |&= 7K il 77401 2 B H 71.7
= D F W 66.5| & B H 101.5 |IX i T 99.3
JIU B H C 66.0 |#% iL i) 40.2 |f# il BTl  106.1
I A R T 78.1 |88 K F& H 49.2 |#0 p=| HT 46.4
H 7K [l 61.6 |AF 1 T 52.7 |0 £ i 47.8
£ = g 86.8 |E E H C 64.9 |5 i i 49.1
H /KK H C 70.1 #m 2 B H C 72.0
XEREREEBEERTFHR21ESAER

SMR(15—19) B#'4 B#] | -SMREE  eSMR  —SMRTE |

130

zza r
e lilatbepsl] gl

I e e T ettt E R

40 r
30

oOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
OoOood
oooono
OoOood
oooono
oooono
OoOood
oooono




EELRCL (SMR) (EhA -&XMB) (H15—19) Z& 100

A - GRIEEFT| SMR | HlT#A - &REFT| SMR | HiliTH - &RIEBFT| SMR
BE R B & 67.5 | & H 5448 2 R ™ 90.3
BE R B 1 709X A H C 54.4 |+ %@ F HEJ 110.3
bl = [it] 52.7 |& = il 74.4 |78 & F H 63.6
8 8 H C 52.7 |m A& K H 36.8|FA 2 & H C 91.2
[ % it 33.5 | B T 45|12 A B H 46.9
B 2% h 70.3 Ii& 3 i) 6291E A E H C 46.9
m AL W T 68.9 & 7K BT 46.3 | & e [it] 74.1
jntf H H C 62.1 11| B H C 61.2 | X F0 £ 84.9
WEZEEAREFH 60.4 |& i [l 71.8 |F =% Ft 0.0
H B [l 79.21F & 5.3 | F KW H 98.2
= 5 3l 0.0 IX 553 HT 109.4 |&E 5EB T 29.0
+ B ¥ 1682 |&E i & H C 72.9 |1= R i) 71.7
FEKRHC 72.6 |EE B T 71.5|1% # H C 71.6
B JI AT 61.1 |&= 7K h 4.3 1 =2 B Bl 126.9
= D F W 5.0l &8 B H 87.6 |IX Ik T 39.4
JIU B H C 60.6 |#% iL i) 60.4 |[4# il i) 35.4
Bl A R T 72.4 |88 K B H 36.8 |#0 ;H T 47.9
H 7K [l 93.2 |HF 1 T 61.9 |40 £ i 54.7
£ = i) 65.6 |[E E H C 63.6 |5 i i 62.7
H /KK H C 83.2 #m 2 B H C 72.0
XEREREEBEERTFHR21ESAER

SMR(15—19) H#'A %tf] | -SMRERE  ®SMR  =SMRTE |

120 T ———————————————
100

. :E%E§EE£EEI§%

40 -

20

oooag
oooag
oooag
OoOooOono
OoOooOono
oooag
oooag
oooag
oooag
Ooooono
oooag
oOooono
oooono
oooag
oOooono




EELRT L (SMR) _(mhA - BE) (H15—19) ZE 100

T4 - R SMR | dilTA - REEF] SMR | il - REEF| SMR
BE R B BH 103.5 |4# & h 0.4/ 2 X Th 138.9
BE R B m™ 104.8| XK A H C 90.4 |+ %@ -+ H 139.8
it = [l 98.7 |& g m| 106.1 |F@ % F HB| 129.4
8 8 H C 98.7 |m A& K H 83.1 |/ 2 & H C| 137.3
L3 I [z} 132.0 |15 B T 107.3 | A B W 128.1
m s D2DFm 120.1 |5& s HT 77.5|1E A B H C 128.1
m AL W T 103.0 |i& 7K BT 88.7 |& e [it] 104.9
jntf H H C 115.8 |18 BE H C 100.9 |X F0 £ 84.8
WEZEEAREFH 108.4 |& i il 102.2 |F =% Ft 112.0
H B [ii] 1041 & & ™ 903.1 | F KN HT 81.3
= 5 il 81.9 | X ) BT 109.6 |& 5EB T 98.5
+ 5 Sl 165.8 |&& fi & H C 100.1 |= H BT 92.4
B £k H c| 106.2 | B T 87.71% #E H C 98.4
iE E JIl AT 114.5 |&E 7K [it] 8.7 |8 2 B HT 115.9
S D F H 102.8 | £ B H 126.2 |X Ik T 126.5
JIL & H C 111.7 |88 L HT 120.2 |4# A1li BT 80.1
I A 8 ™ 77.3 |8 K & Bl 103.4 |#0 A mrl  112.1
H 7K [zl 87.9 |iF ol BT 85.5 |40 £ BT 139.6
£ 5 iig] 86.1 |EE E_H C 94.6 |5 il BT 97.5
H K H C 84.5 <2 &5 H c| 111.9
XEREEERIEERTHR21E8AER
SMR(15—19) fiisth Btt] | -SMRERE  eSMR  —SMRTE |

180

160

leagiis o 0ol

80

60

oooag
oooag
oooag
oOooono
oOooono
oooag
oooag
oooag
oooag
oOooono
oooag
oooono
oOooono
oooag
OoOooOono




EELRRCL (SMR) (uhA - &M (H15—19) Z& 100

mETA - REEFT| SMR | difTH - RIgAT| SMR | HilT# - AT | SMR
BE R &5 B 94.6 |# & | 125.5 | 2 F | 116.2
BE IR B W 101.5]KXK O H C 125.5 |+ & F M7 93.3
i) {E] M|  115.0 |5 5 i} 89.1 |Fm %# F My 131.3
t8  H C| 115.0|m & K Hr 62.4 |/ 2 & H C| 112.3
% 5 i} 61.3 |8 R i 83.1 | A & H| 120.8
m S 2OFHm 96.1 |i& & BT 11951 A § H C 120.8
M A W T 79.1 Ii& 7K T 54.8 |& s M| 105.0
fn it HHC 82.3 |l B H C 83.4 | K 0 # 88.2
WEEEAHFH 1317 |8 i [l 84.9 |F = # 0.0
H =8 | 1166 |& 1 & 1 67.1 | F KW H] 124.9
= 5 # 0.0 |X [} BT 105.2 & 98 T 90.8
+ 5 al 0.0 fn & H C 81.5 | F i) 56.0
B EBEHC 120.6 |&E E [l 86.4 |& # H C 96.2
E E )Nl A 76.0 |E 7K m| 105.0 |18 2 & HI 99.1
= D F H 67.2 | # B Hr 51.5 |X 1, i 95.4
J. 8 H C 73.8 |#& L BT| 108.9 |{# il i) 60.9
Bl A R T 81.8 |mm X & Hr 60.0 |#0 i BT 112.4
s 7K |  102.4 |BF fF i) 97.2 |0 £ BT  156.1
E B ® 4| E H c| 835 # E| 66.2
H K H C 94.7 8 2 B H cl 111.9
XKERSRBRISERTR21E8 AER

SMR(15—19) fififth %M| | -SMREE  eSMR  —-SMRTRE |

180 fommm oo mm

L I e e e B

L e e e e s

TR S et .
SRR SEESEDERE

60

e
F

40

oOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
oOood
oooono
o
oooono
oooono
oOood
oooono




LT (SMR) (KBhA - B1E) (H15—19) Z&E 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B & 90.1 |4 & Gt 85.9 | =2 X ™ 99.7
BE R B 1F 940K A H C 85.9 | ¥ F HI 98.9
it = [l 83.5 |& = it} 74.6 |Fg & F H 38.8
8 8 H C 83.5|m A& K H 729/ 2 ®¥ H C 87.4
[ % |  105.7 |#& B T 7.9 | A B H 107.0
B 2% h 83.4 & S T 29| A B H C| 107.0
m AL W T 90.5 & 7K BT 103.2 |& e [it] 108.4
jo tH B H C .98 BE H C 77.1 | X #0 it 83.2
WHLZEEAFH 79.5 |8 A T 90.2 |F = #  163.2
H B m|l 103.8|& & &= | 101.7|E F W HE| 107.1
= 5 il 0.0 IX 553 HT 62.3 |8 5EB HT 97.1
+ B M 1109 |&E i & H C 90.0 |= R ) 58.1
FEKRHC 94.4 |EE B T 91.8|&# # H c| 102.2
B JI AT 84.8 |&= 7K it 40.4 |8 2 B B[ 136.7
S D F H 49| & B H 32.9 X Ik T 196.2
JIU B H C 87.2 | iL i) 54.2 |t# i i) 90.3
I A R T 88.4 |F8 K F& H 61.1 |#0 A HT 58.1
H 7K M|  107.9 |FF 1 Br{ 104.6 |40 % ) 47.9
£ = BT 117.1 | E H C 78.5 |5 i i 73.9
H sk H c| 103.4 #m 2 B H c| 104.9
XEREEERIEERTHR21E8AER

SMR(15—19) XB#'A Bt| | -sSMRER #SMR -SMRTR |

190

170

!ETHEWEEETJ %

50

OoOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
oooono
[ |
oooono




EERLIL (SMR) (KBhA - K% (H165—19) Z&_ 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 83.4 | & it 66.1|F8 2 E ™ 95.8
BE R B m™ 87.1| X B H C 66.1 |®* & F HT 66.2
it = [l 95.9 |& g it} 69.7 |Fm # F H 15.0
8 8 H C 95.9 |m A& K H 65.5 |/ 2 ®¥ H C 72.2
[ % Ol 98.3 |18 B Br{ 100.9 |E A & HI[ 103.4
m s D2DFm 93.5 I'# s HT 89.4|E A E H C 103.4
m AL W T 87.6 & 7K BT 87.8 |& e [it] 91.1
jntf H H C N2\ B H C 77.7 | X F0 £ 80.5
WEZEEAREFH 90.2 |& i [l 61.6 |F =% Ft 66.8
H B [ii] 73.4|E /7 E W 64.1 | F RN H 57.4
= 5 # 0.0 |X 5 T 45.0 |8 58 T 82.7
+ 5 Sl 157.8 |& i & H C 60.0 |= H BT 68.2
FEKRHC 79.7 |EE B T 92.1 |1 # H C 80.7
iE E JIl AT 89.8 |&E 7K it) %.5| <2 B H 82.9
= D F W VI|E & B H 118.2 |X Ik T 24.9
JIU B H C 92.3 | iL i) 71.5 |## i i) 67.1
I A 8 ™ 75.0|Fm K B H 69.4 |#0 A HT 34.2
H 7K [zl 88.1 |AF ol BT 85.2 |0 £ BT 116.8
£ 5 g} 62.0 |EE E_H C 89.5 |5 il BT 104.7
H K H C 80.7 #m 2 B H c| 104.9
XEREEERIEERTHR21E8AER

SMR(15—19) KWtk %#| | -SMRLRE #SMR -SMRTR |

160

140

120

100

80

60

40

ooogd
oood
ooogd
oood
oood
oood

ooood
OoOooogd
OoOoood
OoOoood




EELRLL (SMR) (FEhA - X&) (H15—19) ZE 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 92.1 | & it 97.6 |8 2 * m™| 118.4
BE R B 1F 90.3|Xx A H C 97.6 | # F HI 72.7
it = | 113.4 |E = | 115.2 |&@ ¥ F B[ 111.5
8 B H C| 113.4|m A& KX H 65.4 |FA 2 & H C| 104.1
[ % | 132.2 |4 B BTl 11541 A B H| 108.9
B 2% h 80.1 & S T 81.6 |E A & H C| 108.9
m AL W T 66.9 & 7K BT 76.5 |& e [it] 69.9
jo tH B H C 86.3|® 8 B H c| 104.8|x #0 | 162.2
WEZEEAREFH 89.8 |& i [l 70.7 |F =% Ft 0.0
H B M 87.5|F & &£ W 1621 | F KN H[ 233.2
= =] 3l 0.0 |X 553 HT 163.9 |& 5EB T 55.9
+ = #[ 5789 |&F & & H Cc| 119.1 |= R Br{ 106.2
FE KR HC 91.5 |EE B T 9.1 | # H C 98.8
B JI AT 58.7 |& 7K il 82.7 | =2 B H| 147.1
S D F H 130.3 | &£ B H 137.0 |IX Ik T 50.1
JIU B H C 75.6 | iL i) 58.5 |f# il i) 0.0
I A R T 51.1|Fm K & H 84.3 |#n p=| mr{ 229.7
H 7K [l 73.3 |BF 1 T 69.5 |40 % ) 0.0
£ = g 29.4 |8 B H C 90.9 |5 il i 0.0
H K H C 61.0 #m 2 B H C 82.0
XEREEERIEERTHR21E8AER
[SMR(15—19) F&E#A %] | =SMRLE  eSMR  =SVMRTE |
240
220 —_—

200
180 |- oo oo

S SEE S IRE

80 | s EE
60 |

40 - T e e
I e




EELRRCL (SMR) (GLAA - &) (H15—19) Z& 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 79.3 | & Gt 56.0|/8 2 X ™ 53.7
E IR B ™™ 97.9]lx B H cC 56.0 |4+ %# F HI 80.8
i = [z} 86.8 |& =) [it] 86.0 |Fm %@ F W 32.7
8 8 H C 86.8 |m A& K H 80.0 |FA 2 &®F H C 57.7
[ % Ol 72.4 |4 B T 4.4 |B A B H 88.5
B D F | 118.9 & S T 2401 A E H C 88.5
B A M Th 77.2 |i& 7K T 59.5 |&E e M| 105.7
jo tH B H C 2.3 B H C 74.1 | K #0 it 94._0
WEZEEAREFH 48.8 |& i il 39.3 |F =% Ft 0.0
H B M 79.0|F & F h 67.1 |3 F KW H 85.8
= =] 3l 0.0 IX 553 HT 50.2 |&E 5EB HT 64.7
+ B ¥ 3166 |FE i & H C 51.3 |& R Br{ 126.0
FE KR HC 69.0 |E B T 67.3 |12 # H C 98.4
B JI AT 81.4 |&= 7K il 56.7 | 2 & HI 49.9
xS D F f 62.0 |E & EBE H 51.2 |X 3k Br|  116.0
J 8 H C 77.0 |88 i T 17.3 |## Il T 79.2
I A R T 43.4 |F8 K & H 33.1 |#0 p=| Br| 159.2
H 7K [l 54.3 |BF 1 T 59.0 |40 % ) 0.0
£ = g 492 | E H C 58.3 |5 i i 34.3
H /KK H C 50.5 #m 2 B H C 72.7
XEREEERIEERTHR21E8AER

SMR(15—19) BL#%A %#| | -SMRLE  eSMR  —-SMRFR |

160

140

120

T T
511 !

60

40

20

oOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
oOood
oooono
o
oooono
oooono
oOood
oooono




FEEILELLL (SMR) (ke - BF) (H15—19) ZE : 100

T4 - R SMR | HilTA - REEF| SMR | dilTA - REEFT| SMR
BE R B B 93.7 | & it 5.4 |/ 2 X | 105.2
B IR B 86.9|x BB H C 95.4 |+ ¥ F M1 107.3
it E [l 97.4 |& g | 104.5|F % F H 93.1
8 8 H C 97.4 |m A K H| 108.6 | 2 F¥ H C| 103.4
% % Ol 94.9 |18 B T 4.4 | A B H| 105.3
B D F | 102.0 |II& 4 Br{ 110.8 | A B H C| 105.3
m AL W T 100.0 |i& 7K HT 111.4 |#& e [it] 103.3
jntf H H C 9.8/ E H C 103.8 | X F0 £ 74.4
Wb EaAFH  109.8 |E A | 101.7 |F 3" # 91.0
] B M 04| 1 F h 0.1 F KW H 75.0
= 5 b 38.9 | X 553 HT 81.8 |& 5EB T 90.1
+ 5 # 93.1 |& i & H C 97.7 | e i) 80.7
FE KR HC 96.9 |E = T 85.1 |1 #E H C 93.2
E E JI A 88.3 |=E 7k it 83.8 | =2 B H 100.2
S D F H 109.3 | &£ B H 101.6 |IX Ik T 85.0
J 8 H C 93.4 |88 i Br{ 113.6 4# il T 99.0
I A B ™ 82.2 |F8 K & B[ 124.9 |f0 A mr{  102.1
H 7K M 93.8 |iF 1 Br{ 104.4 |40 % Br{ 104.4
s = BT| 113.8 |8 E H C 93.6 |5 il i) 65.7
H K H C 93.2 #m 2 B H C 94.3
XEREEERIEERTHR21E8AER

SMR(15—19) ib&E Bft] | -SMREE  eSMR  —SMRTE |

140

130 [

- TET*TET_I - T
AL R N

e

70

oOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
oOood
oooono
o
oooono
oooono
oOood
oooono




FEELRTL (SMR)  (bjkis - &1E) (H15—19) Z& . 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 94.7 |4 & m| 115.0 |8 <« X Tw| 106.3
B IR B 88.4lkx B H c| 1150+ #® F H 92.3
it = | 100.7 |E& = | 104.8 |&@ & F H 85.8
8 B H C| 100.7 |m & K H 81.4 |FA 2 &®F H C 98.5
L3 I [z} 86.0 |t& B T 122 |BE A B W 90.5
B 2% h 83.8 & S BTl 113.7|E A & H C 90.5
m AL W T 98.8 & 7K BT 91.5 |& e [it] 92.1
jo tH B H C 0.1 B H c| 100.7 |x #0 it 72.6
Wb EaAFH|  108.2 |E A ml  111.7 |F = #|  131.8
H B M 75| fH F 7.5 | F KN H 65.1
= 5 ¥t 43.3 | K I T 85.0 |&E 580 T 72.5
+ B # 68.4 |&F i & H C 98.8 |= R ) 84.5
7 &£ fk H c| 100.8 |& B T 2.6 #E H C 85.8
B JI AT 85.4 |&= 7K il 7.3 | 2 B H 95.0
S D F H 1085 | £ B H 86.6 |X Ik T 93.0
J 8 H C 91.3 [£& i mr{ 127.1 4# il T 93.8
I A R T 86.3 |F8 K FE HEI 126.0 |#0 p=| HT 64.6
H 7K [it] 104.1 |BF 1 T 92.0 |%0 £ il 124 .3
£ = BT| 112.4 | E H C 98.7 |5 i i 97.4
H K H C 99.5 #m 2 B H C 94.3
XEREEERIEERTHR21E8AER

SMR(15—19) &®E %] | -SMREE  eSMR  —SMRFER |

140

130

R, EHEHE EE

70 |

60

oooag
oooaQ
oooag
oOooono
OoOooOono
oooag
oooag
oooaQ
oooag
Ooooono
oooag
OoOooOono
oooono
oooag
OoOooOono




SEEETHE (SMR) (MmEKSE - HiE) (H15—19) £HF:100
mETA - REEFT| SMR | difTH - RIgAT| SMR | HilT# - AT | SMR
BE " B B[] 109.8 | & m| 116.8 | 2 *x ™| 114.3
B R B | 104.0|KX O H cC| 116.8|& # F H| 121.5
& & | 127.4 |& 5 m| 115.7 |m %% F HEy| 118.7
t8 ® H C| 127.41|m & A HE| 115.2 | 2 % H C| 117.3
£ B | 144.1 |48 =} BT 70| A B H 82.2
m s D F | 139.8 | £ Bl 104.0]E A & H C 82.2
ML 9N 7|  113.8 |iE X ) 99.4 |& = fit] 93.8
pnt# B H C| 130.2 |4 B H C| 109.9 |X il #|  176.6
Wb EHEAFm  108.5 |F B’ ] 105.1 |F B’ #| 155.7
B B ™ 109.0|F &£ T 89.0 |# F W H[ 101.1
= 5 # 49.4 |X i BT 111.0 |3 9B BT 97.5
+ 5 /| 158.5 |&F i & H C| 100.1 |= 5 BTl 111.7
# £ Bk H C| 108.9 |E = m| 117.4|& & H C| 102.3
EE JII N | 118.4 |® K il 89.5 |8 <2 &5 Hr| 104.4
= D F Bl 118.2|FE $£ B H 93.2 |X Ik ) 74.2
J 8 H cC| 118.3 |58 i BTl 101.8 | fili BT| 118.9
BT A 4R | 106.8 |m X & AT 83.3 |0 i BT| 118.9
H k[ 110.5 |AF 1 BT  117.2 |40 % BT 94.1
pod 5 Br| 133.1 | B H c| 108.3 |5 i BT 55.8
B K H C| 112.6 £ 2 § H C 97.1
XKERSRBRISERTR21E8 AER

SMR(15—19) BimE&KH B¥| | ~SMREE  eSMR  —SMRTE |

150

I S S R S
nEg o *H_Eﬁ ******** ]

e e e

80 [ ----mm o =
70
60

50

oooag
oooag
oooag
OoOooOono
OoOooOono
oooag
oooag
oooag
oooag
oooono
oooag
oOooono
OoOooOono
oooagd
OoOooOono




EEESELE (SMR) (e - X&) (H15—19) % 100

mHTA - GRIEEFT| SMR | HlT#A - &REFT| SMR | HiliTH - &RIBFT| SMR
B R B B 110.4 | & m| 1051 |@ <2 X | 134.7
BE B B wm 105.5|]KX O H c| 1051+ %% F B 103.3
5 = | 138.3 |#& = | 110.9 | ¥ F H] 119.8
8§ 8 H C| 138.3 |m A& K H 113.0]/ 2 ® H C| 122.5
[ % |  150.4 |44 B Bl 11411 A B H 82.4
B D F h| 127.3 A& 3 T 87T9|E A B H C 82.4
B A o T 131.9 |iE 7K T 83.7 |& e [it] 87.0
jo ## B H Cc[ 133.7 |38 B H C| 107.9 |X #0 #  151.4
Wb EBEAFM 1112 |8 A | 123.3 |=F = it 85.8
H B ml 1222 |EF & .73 F KN H 87.9
= B M 1116 |X I Br| 106.3 |&E 580 T 94.4
+ B ¥ 176.1 |& & & H C| 110.9 |= R Byl 110.2
# &£ B H C| 118.6 |E B m| 127.7|% # H C 92.9
B E JII A |  115.5 |E 7K m| 1088 <2 & H 78.8
xS D F f 80.4 | & EBE HE 127.1 |X 3k HT 76.7
J 8 H c| 106.7 |5 iL T 76.7 |## Il T 82.3
Rl A 4B | 107.3 @ X (@ Hr 87.8 |#0 p=| HT 81.4
H 7K | 107.4 |BF 1 T 96.2 |%n £ Byl 139.7
£ = Bl 1015 E H c| 113.1]5 i Br| 103.7
H K H c| 106.6 #m 2 B H C 97.1

XERSRBERISERTR21E8 AR

160

140

120

100

80

60

40

SMR(15—19) [iMEXSE x| = -SMRLE #SMR -SMRTR |

oooag
oooaQ
oooag
oOooono
OoOooOono
oooag
oooag
oooaQ
oooag
Ooooono
oooag
OoOooOono
oooono
oooag
OoOooOono




FEELELLL (SMR) (23R - 2% (H15—19) ZE : 100

mHTA - GRIEEFT| SMR | HlT#A - &REFT| SMR | HiliTH - &RIBFT| SMR
B IR B Bl 102.9 |4 & m| 103.5 | =2 x | 111.7
BE R B 1F 98.8| K B H C| 103.5|+ # ¥ H[ 118.9
bl = |  101.2 |8& = | 107.2 |#&@ ¥ F H]| 104.7
8 B H C| 101.2|m & KX H 90.7 |FF 2 & H C| 112.4
[ % M| 113.2 |#8 B BT 7.0 |E A B H| 116.1
B D F f| 116.0 & S T %6 |BE A B H C| 116.1
B A T 110.2 |iE 7K BT| 100.3 |& e M|  110.9
jif B H Cc[ 113.213 8 B H C| 102.1 |X 0 £ 128.7
WbEEAEH 104.2 | A M| 105.7 |F = #  119.1
H B |l 103.5|F & & | 1004 F W H 96.2
= B * 45.5 | X I Br|  111.0 |8 580 Br| 101.0
+ B ¥ 135.0 |&F i & H C| 104.6 |= R BT| 111.8
7 £ fk H c| 103.7 | B T 90|24 # H cC| 108.4
B E JI A 101.1 |E 7K m| 102.7 | 2 & H| 101.7
= D F HE| 107.8 |5 #£ B H[ 106.7 |X 3k BT| 114.6
I % H c| 102.7 |52 iL BT| 102.4 |# il BT| 109.5
Pl A R | 101.0 |8 KX B& HEI 103.0 |#0 p=| Br| 102.9
H 7K M| 101.3 |iF 11 BT| 107.8 |40 £ BT| 108.1
£ = Bl 111.8 | E H cC| 101.5 |5 i i 87.0
H &Kk H c| 102.7 #m 2 B H C| 104.4
XEREREEBERFER21FIRER

SMR(15—19) 2%H $M| | -svrEE #SMR -SMRTR |

130

120 F oo oo

:
Degioiziigizocti

90

oOood
oOood
oOood
oooono
oooono
oOood
oOood
oOood
oOood
oooono
oOood
oooono
oooono
oOood
oooono




FEEILELL (SMR) (23R - ZE) (H15—19) ZE : 100

T4 - R SMR | HilTA - REEFT| SMR | HiflTA - REEFT| SMR
BE R B B 98.9 | & Gt 9.4/ 2 * | 101.2
E IR B ™™ 9%6.7]x B H cC Q4|0 #F F H 97.0
it = | 103.9 |#& = | 105.0 | ¥ F HJ| 107.0
8 B H C| 103.9|m A& KX H 84.6 |FA 2 & H C| 101.0
L3 I [z} 107.1 |#%& B T 8.9 1R A B H 96.1
B S D F M| 104.6 & S T 913 |1E A B H C 96.1
m AL W T 100.8 |;& 7K BT 82.5 |& e [l 94.9
jotH B H c| 1036|488 B H C 98.6 |X #0 #| 101.5
WhEaEAFH 104.4 |2 A |  102.1 |=F 3" # 96.7
H B Ml 1014 |EF & & 1 8.6 |3 F KW H 85.6
= 5 # 71.1 |X I Br| 110.7 |%E 580 T 89.3
+ B #[ 109.8 |& & & H C| 102.1 |= R T 99.6
£k H c| 102.4 | B T 9.0|# # H C 93.8
B JI AT 95.9 |&= 7K | 1045 | <2 B H 96.9
= D F W 93.0|% & B H 119.1 |IX Ik T 95.0
JIU B H C 95.2 | iL i) 97.4 |## il i) 90.4
I A R T 93.4 |F8 K F& HEI 102.2 |#0 p=| HT 78.9
H 7K | 103.3 |BF 1 Br{ 100.5 |40 % Br{ 113.9
£ = Bl 107.2 | B H c| 101.1]5 i i 93.6
H ok H c| 100.7 m 2 B H c| 104.4
XEREEERIEERTR21F9RAER

SMR(15—19) 2%E %#t|] | -SMRLE  SMR  -SMRFE |

120

T I St T e T

NELASRE SRS

80

oooag
oooag
oooag
OoOooOono
OoOooOono
oooag
oooag
oooag
oooag
oooono
oooag
oOooono
OoOooOono
oooagd
OoOooOono




	HC別

